Jifre g §5

1. I 39T [SOLID STATE]

Rl B T=AT — hep / cep foea a1 # IfT @It FHorf & FATN 8 dr —

Location of Octahedral Voids = Body centre + Edge centre

No of Octahedral Voids = 1x1 +12x% = 4 ; No of constituent particals = 8x§ + GX% =4

No of Octahedral Voids = No of atom in unit cell

Location of Tetrahedral Voids = 2 V; at each boby diagonal of fcc

No of constituent particals = SX% + GX% =4 ; NoofTetrahedral Voids = 8x1 = 8

No of Tetrahedral Voids = 2 x No of atom per unitcell [V = 2x0y]

;BB RfFal o w1 = N, aguhaa Riaqal o §@&1 = 2N, G Rfadqai @1 @i = 3N

3fifdhes e : Tab Ifieh AT QT Tcd X 9 Y ¥ 997 © Id Y @ URATY] (FURH) cep STl I © T

ac X @A) S 9 sreharard RIGT &7 gdmdr € a1 dife &1 g3 S STy |

Y (anion) ccp that present = corner + face centred
Y=8x1/8 + 6x% =4

X (cation) at Oy = body centred + edge centred
X=1x1+12x% =4

X:Y=4:4=1:1 hence formula = XY

Let No of Yatom=n

No of octahedral void =n

No of Xatom = n

X:Y=n:n=1:1 hence formula = XY

3fifhe U : U AlMTh &I dcal I G911 © (o794 dcd B & URHIY ccp STl §91d @ d2H ded A Sif
TITHd RGN & 2/3 9NT &I Bl & a1 b B G A1 BIfIY |

B atom in ccp, that prsnt = corner + face centred
B=8x1/8 + 6x% =4

A atom at 2/3 of tetrahedral void ; V=8 inccp
A=8x2/3=16/3

Let No of Batom=n

No of tetrahedral void = 2 xn

No of Aatom = 2/3x 2n = 4n/3

A:B =4n/3:n = 1:1 hence formula = A4B;

A:B =16/3 :4 =4:3 hence formula= A,B;

3fifdhes e : Tab AT &I Tcdl o I © OTAH dcd Y & URHY cep SITeld I & AT dcd X Sl
FIhADI RIGTAT & 1/3 9T P ol 2 A AH BT G S DIOIT |

Let No of Yatom=n
No of tetrahedral void = 2xn = 2n

No of X atom = 1/3x 2n = 2n/3 X:Y =2n/3:2n = 1:3 hence formula = XY;

el &HdT (PE) —
fPved § o1 SUGE WM $T 98 YRR 91T S 3faad] $olf gRT WYRT a1 &1Rd 8T © |
(e &adT BT A = TDhd PINSHI b BUN §RI YR Bol A X 100 /U DIRSHT BT Gl ITAA)
1. (scc) TR BT SIeld WREI6N H Hager &l —
o WS T THB scc H G BoN B AT gx= = 1H
e Ud HU /Ml BT A = 4/3 e
o FU BT FA N = 1x T = 437

I Thep P T oIl = a
BT AT Ml B B =r

o D P AT =a°

total volume of particles

o QT &HAT = X 100

T B8
THd PI Yol @ 7 Brewr rH daw Q,—

AR @ ABCD 9§ .

a=r+r = 2r

volume of Unit cell

— 4/3 r3 x 100
a3

o (28) wee witw weaan F
g saa B IRFET
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_ 4/3mr3
- (2r)3

: 1100
W QE&IdT = 1T x 100/6 = T=52.4%

x 100

(bee) BRI Dfvad /T Bfead T GRTRI A Hhd <&l —
BT Dfad THD bee ff?ﬁffﬁﬂ%ﬂ@=8xé+@»—cﬁa‘>$?;{ﬁlx1 = 2 HIT
_ 3
‘;’EBEEUT/*IMEBTSHQCI*I;MBM @ T A @ frew W
: _ 4 3 _ 3
PO DT ol ATATT =2 x - mr” = 8/3mr ReTge A DEF &
2 _ g2 2 R LN
YHd BT ATAT = a’ DF*=DE’+EF* | /]
Ghord &) = S el @ Ba e b’=a’+a’ 2
> " St vew St v et 100 b? = 232 N
wiger qerl = 222 x 100 frTgeR A ADF
AF? = AD” + DF? 4+, /o 4, A
1B a8
= 22 x 100 =a’+2a® N
(ﬁ)3 ¢’ =33’
. 1100 — A —
@A TEAT = 1/3x100/8 = 100XV3 _ gay; c=V3a (if c=4r)
4 _\/§ _4r
r=+v3a ; a—\/§

hep & ccp ERTARI W Hhold S&al —

ol Bi-ad 4T Thd fcc H HUN Bl G :

Tdh DT /Tl bl AT = 4/3 nr
FUN BT G AT =4 x 73 = 16/3 7

Ife Yo BIRSHT BT Gel AT = a°
&% diftasl 3 TN Mal &1 J@w

qqa =
Bl el s oow o1 ga X
. 16/3 3
<ieger et = <22 100

16/3 3

= 183713, 100

(5)3
) 1100 x 2
ARl SEAT = 7v/2x100/6 = Ty 4%

B TN 8x%+wzﬁ?ﬁ€ﬁ6x%=1+3=4aﬁw

THd & T a o Boar r # Hewr
AR AADC ¥
AC? = DC’ + AD® ;
b?=a’+a’ ’ \
b? = 2a’ :
b=+v2a (if b=4r) / /C>
4r = /2a ‘ —
4r

vz

m B

a=

THH HINSPHT BT TId —
Udhds PIGDHT BT GIHAE = Rl DU Bl H0 X Y Y B SIAH (zm)

U BT BT GHAE = TTH JUMHR AT WRATY] IR / ATARTET F0 (Na) [Mm=M/Ny]
Uhd BIRGHI BT AT = Yol [a’]

U HINGHT BT g-Icd =

Uhdh HINSHI BT G / Thd DISHT Bl AT

[d =zM/ a°> Na]
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2. fdela91 [SOLUTION]
1. =gHE gieaar (w/w)
faere @ 100gm YR AT § SuRed faery ueref o U™ & A3, gHH Uferddr deanh g |
w/W % = Ml\z::i)?;ﬁltjﬁ;nri) X100 ;  [w/W% =W, X100/ Ws+W,] A= fiems B =g
Ex : Aquaile <R fieas & |Qifsaq sEuidREse &1 oid § 3,62 So@9H Ufoed 8r B |
Ex: 11 gm 3ffaifeld 817l W 500 ml faeras =mar rar | Tt 897 1.1 gml™ B | SFAM URI9d ST &7 |

JMIferd 37 W, =11 gm
feta= &7 §&H M m = vxd = 500 ml x 1.1 gml™ = 550 gm
Jfaifersd ot faeras & foTv goymE wfoeraar %w/W = 11x100/550 ; %w/W = 2% Ans

2. IMIAE gfaerear (v/V)
faeTa & 100m| 3= YWRT & SuRerd fdold &1 ml # 3ad= |, 31 Ufaeradr bl g |

v/V % = —olumeofsolute(gm) y 154 . [V/V%=V, X100/ Vs +Va] A= Rems B=fdm

Volume of solution(gm)

JETERT : U TS dhicT BT 35 % v/V Acid a1g+i & S99 Bl 3T B H BIH AT & I8 RAEn
(coolent) STl & fRHI® BT 255.4K (-17.6°C) TH HH X <l o |

JTI0 : VAT & 25% v/V ST A = 25 mI VAT 75 mi STad H SURT € 31T Gt A= 100 ml

3. FEHM—ITIdY gfagaar (w/V)
e & 100 ml 3" 9T # SR fdeg & U™ & 937 |, SIHH—3ad faeiddr dedl 2 |

w/V % = —assofsolute(gm) w159 . v =W, X100/ Vs+Va] A= Rom® B =fiem
Volume of solution(ml)
g /SuAar : SRR 9 Bt

EX - 2% w/v NaCl @& 500m| sielar faera=t g fae= amd NaCl @ amaege &nfi ?
[w/V% = Wg X100/ Vg +V,] W; = weight of NaCl =? Vg + V=500 ml
2 = Nacl(gm)x100/500ml ; W;g = 2x500/100 W; =10gm Ans
4. Uew yfa ffergs ((fie) -
10° gm R 9T faera= ¥ SuRerd faorg & a4 & 9=, fidivg sear 8

Mass of solute(gm)

X 10°

m =
PP Mass of solution(gm)

5. A = A A o
3fagd (faery, faamad) & Arel 91 e & gl Al B AU, Al =T B & |

No of moles of constituent

Mole fraction (X) =

Total moles of solution

gfe  foeamas=A fII® & Al = na
foem=8 faera & 71 = ng
foea & =i =np +Ng
[Iera®d &1 AT =T (Xa) = na/ na + Ng
faera @) AT fA=1(Xs) = ng/ na + N
O @& Jel f=1(Xs) = Xa + Xg + vovvvreveee +X =1
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6. Hioar (M) : faeras & ff¥=a smaa=(1 lit) o SuRerd faeg @ A, faeras & JeRdT dea 2 |
HIERA(M) = —noke of solute q75h : AT Ufd oflex ; mol L?

Volume of solution (lit)

7. Al (m) : faamae & F¥Ed wR(1kg) & SuReyd faera @ did |, fae &1 Aicterdr dea © |
HrererdT(m) = —ole of solute A% Al U fHIE ;. mol kg

Weight of solvent (kg)

e : ag iR JEe : AieRar, e Ufive, SEH—sId ufored

1. TRIROT 9 (rt) —
e &1 gdg R o9 d1a7] 98 59 &fde g6 ol fadae

BN DI spm gRT fIeas & Yare JAHa1(@fed) 8 , IR0 19 BTl &
Tt = CRT
n:%RT Ny = W, /M,

M ~ - -
310 : 27° CAU W IRAT & 1o [T T RO A1 S &I | Ife R=0.0821 atm lit K'mol™

S0: T =CRT C=%M . T=27+273=300K

T == x00821x300 ;

10

S0 : 4 % IRAT A 3 Brfies AR A & 12 %A BT THRRIY €| A BT AYIR ST BN |

WRT
IR T =~ ; IRAT BT AR =60 gm

o o~ _ 4RT .
4 % JRAT fACTAT BT TRV G673 = ——oX 1000 o (i)
12RT
12 % E A BT WRRT TE T = —2 4 1000 oo, (ii)
M X 100

Tfh AR fIerdd & URTERYT &9 999 81 & | 3@ Ty = T,

4RT 12RT 4 _ 12 _ .
sox1oo X 1000 = $5p X 1000 60 M 31ct: AITH A BT IR M =180 gm  Ans

JQTEROT 1 NaCl, CaCl,, Ky[Fe(CN)s] @ 1 HIdT B STl # biet IR AR 2rd Uferd I+ &1 dl 39 3R,
qREfde IR BT fd=T W BRM? JAfal MR d aR<Ifdd AYMR H U S DRI |
¥0 — NaCl - Na' + CI = 2 mole ions
CaCl, > Ca** + 2CI = 3 moleions

Ki[Fe(CN)s] > 4K" + [Fe(CN)s] = 5 moleions
G AU[HEH T @RI B HE&AT) AUMR B FeBATUId] Bl 8 | AYHEIS TRE o 1/ MR AT e G|

1

orct: 59 AP B AR T IRARD AR BT AT BHL ~ 5~ ;o @
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3- ?lg?r XHMg [ELECTRO-CHEMISTRY]

& ARE TR — A WG, Seldgls @l Uqfa, T Ugad deid SMUacdl & Haid Gl H Hawel —

>

Wﬁaﬁﬁwmﬁmﬁﬁvwm

AG = AG® +RTINK e (i)
-NFE =-nFE® + RTINK oo (i) =¥l0 & T Yell ®I —nF | 91T & W AG = -nfE
—nFE _ —nFE0  RTIK o o
-nF  -nF —nF AG™=-nFE
£ -0 . RTInK R =8.314JK'mol*
nF
E =g . 8.314 X 298 x 2.303 log-K T =298K
- nx 96500 810 {n =2.303log
E =g - 299 4 10K e, (iii) K =397 Reris
M™(aq) + ne” > M(s)
RTI n+ .
Ev™m = En™m - nFn [M(s)]/ [Mn™(aq)] if [M(s)] =1M
+ + RTI n+
Em'm = Ew" M - nFn 1/[Mn™(aq)]

TS A g D AAEAT aA+bB = C + dD & forg K =[C]°[D]*/ [A] [B]°

E =E° - 22 logyo [C]° [D]*/ [AF [B])] f [AP [BI°=[CI°[D]"= 17T K =1 [log1=0] @ E =F°
[ 2 s O Ll B R K A
Zn(s)|zn*(aq) | |Cu**(aq) | Cu(s)
Net cell Rxn : Zn(s) + Cu**(aq) = Zn*(aq)+ Cu(s)
Ecet = Eon - 222 logyo [Zn*"][Cul/[Cu*[Zn]
ElEg ‘\ﬂ—g’ o9 9 SN $ Arsarl H uRdd+ ReR Igdr 8 81 [Cu] = [Zn] =
Forcathode:  Ecu”jcu = E’cu’cu - 00591 log 1 /[Cu®"]
For anode : Ez ' izn =E27 1 2n - 00591 log 1/ [Zn*"]
Cell potential : Ecen = Ecu™jcu - Ezn’'|2n
Et:eII = EoCu |Cu ~ ik IO 1/[CU2+] EoZn2+|Zn - 00591 lOg 1/ [Zn2+]
Ecet = Eee - 20 log [Zn*]/[Cu%] OR  Ecar = ECcen — 0.0295 log[zn®'1/[Cu?"]

m:@ﬁua@amﬁwﬁa[z#*]&[cd*] P Aredl ) & iR axar 21
A G ¥ 9N ReRiP(K.) T DRAT :
Sfrae 9 &1 uRuer 48 a-e R fAfEar § |1 wifid 81 ofrar @ @ e fava gea) 3 81 ofar 3

Ecen = Ecan - 0.0591 log [zn**]/[Cu*] if Eey=0volt ; [Zn**]/[Cu®] =K,
0.0591 2.303RT
Ecen = Iog Kc OR Ecen = ——log Kc

log K= n E%y /0.0591 at 298K if E’ey = 1.1V

logK.=1.1X2/0.0591 = 37.288 ; [Kc =2 X 10?

3rifdres U @ Aedfd el Ni(s)|Ni**(ag)(1M) | |Cu*(aq)(1M) | Cu(s) &T It fawa 0.59 V Td cu™|Cu &1 31 a1 fava 0.34 Vv
Bl Ol Solders T A Uad= faua STa &R el IR : Ni(s)|Ni**(aq)(1M) | |Cu®*(ag)(1M) | Cu(s)

B = E% — E% 059 =034 -, ; E% =0.34-059 ; E% = -0.25V Ans

b ge : afe E°,*|cu = +0.34V 8 Al 0.1M BIR 317 Yol faera=t & & gerdgts &1 fawa(emf)sma @x1(log10 = 1)
STyt SIfAfFaT - cu* +2e — Culs) W= IHI0 d E =E° - 00591 logo 1/ [Cu*]

00 logo1/0.1 ; E =034 - 224

E =034 - logi,10 E =031V Ans
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A amﬁas@azﬁrsmaﬁlcmzﬁwaﬁm%aﬁ:%?ﬁwzﬁﬁaﬁw'ﬁﬁm*)mﬁ%‘m«:&x

fafdre aras@, areea & A ReRie # dawer — [ e ardeda = ardsd(G) X A ﬁwﬁcﬁ(%)] [1Secm™ = 100 Sm™)

3ifhd W : 0.001M KCI fIeRIA g aretehal el BT URRIE 298 K UR 1500 AW 2 | Al ReRid &1
fuor ifve afe 59 oo & At ardea /ardsdr &1 99 0.146 x 10° Scm™ BT |
fafdre arcided = AP E(G) X Aol ReRrid (G)
Jot Reria (G') = falre ardda K / aredd(G)  Ifd G=%
Aet Reriep (G) = fafdre Areracd(K) x TfaRIE(R)
Aet Rerid (G') = 0.146x 10> x 1500 = 0.219 cm™ Ans

3rifeed YT : 298 K TR 0.20 M KCI faera= &1 fafdre ardidhad 0.0248 Scm™ 2 @ Aok <Teldbdl @) 0T IO |

UIGRICIEERY Am= 2120 K= 00248 sem® M = 0.20M
0.0248 X 1000
Am = 0.20

A= 124 Scm’mol™ Ans
Ex CuSO, @ fae™e &I 1.5 Amp &1 91 9§ 10 fiFe d& degd 3fude fhar a1 8| dais R [&fd Cu &1 g9+ sd a7 |
AI(Q) = ORT X 9T =1.5x10x60 = 900 C
afafear Cu®(ag) + 2e = Cu(s) =2F (2x96500)

63 x900
X = 0.2937gm  Ans
2Xx96500

fafod cu o1 g\ ar |mE =

Ex: Na,SO, ¥ U® U™ i AT Al & a-IaR & dl 30 PIeRISY A H Fa B |
A% % (Na,S0, ) =A°[Na'] + A% [SO,7]

Ex : MgCl, & NaCl & Ty ®IeRtser &l | & o o |

0 0 0 0 0 0
A iveciz) =N mg2+ + 2N qr ; A mnac) =N Nar + A

1. ool Igd UGSl DI I YAl W AR ATerdbdl &1 freior —
1. evcgd fafy (AT @Y AR ATeHar §R1) —  gdof dgd IEed S CH;COOH @ A%, & feiRor &g yeer degd sraeeat
IR CH;COONa , HCI, NaCl @t A°, & &1 afgder fafer & urd o g faar Sirer 2
RSy frma - A%, =A%, + A%

CH5COOH @1 A%, A%CH;COOH = A°CH5CO0™ + A°H' s (i)
CH;COONa &Y A°,, A%CH;COONa = A°CH3C00™ + ANa'™ v (i)
HCl &1 A°, ACHC = A%CH + AHY e, (iiif)

NacCl &1 A%, A°Nacl = A%C + A°Na' e (iv)

BT (i) + (iii) - (iv) A W

A°CH;CO0Na + A°HCl - A°Nacl = A°CH;c00™ + A°Na* +A%°Cl ™+ A°H* - A%cl™ - A°Na’
A°CH;c00™ + A°H' = A°CH5COOH

Hence ; A°CH;COONa + A°HCI - A°Nacl = A°CH,COOH

37ifed® YT : CH,COONa, HCl & NaCl &1 298 K IR HIeR dATeldhdl & A HHI: 91.0,425.4Td 126.4 Scm’mol™ & @l
CH;COOH &1 3fd Tl UR HAleR HTeldhed S DIfTY
PRy a3 — A%, =A%, + A%
A°CH;COONa + A°HCI - A°NaCl = A°CH5COO™ + A°Na' +A°Cl + A°H* - A°cl - A°Na*
A°CH;C00" + A°HY = A°CH;COOH
Hence A°CH;COONa + A°HCI - A°NaCl = A°CH;COOH
91.0 +425.4 - 126.4 = 390.5 Scm’mol™
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> OIS ReRib /Tdh BRIS AT —
Ag'aq) +€ > Ag(s) FIeR @& U Al UFAT B TP Al Soldgel @ 3Maegdhdl &Il o | ik
uered & 19T Jodid MR BT Fafd a1 o o 2 Mavad I B AT, 1 HRIS 3MIY HEA ¢ |
1HRTS MY = 19T Seldgid UR MY [1F = 1.66 X 10™° X 6.023 X 10** = 96487 C mol™ = 96500 C mol™ ]

e geriaal [CHEMICAL KINETICS]

. - . + ) _ _1ABr] _ ABro] _ ,1A[Br] _ , 1 A[H20]
Ex:5Br +BrOs + 6H" - 3Br, + 3H,0 ; 31fW0 dw= SSn S-S = 4o SR =4Sl
SEISN
1) 2NO +0, — 2NO, . AT = kINOJY[0,] : % - KINOJ?[0,]
2) CHCl; +Cl, — CCl, + HCl ; T = k[CHCI5][Cl,]* ; % = k[CHCI5][Cl,]*
H+
3) CH,;COO0C,Hs + H,0 — C,HsOH + CH;COOH ; T = k[CH;COO0C,Hs][ H,0]° ; ? = K4 [CH5CO0C,Hs]*

> fafre afwfear o a1 a1 Fraie ar 9 [one -
AP RDT BT 3bTs Aigdl IR 31fF0 BT 97 ReRid K & Sx&x 8 IaT & 59 (AR 31fA0 97T Ped 2|

oKArBP R ar=) -

& _y e ffEar 1) 9@ 9P Bife W R axd 2 |

dt
< 9 Reris @ R : aifio a1 & = kAl
sl XQavs T = K[@msd Y x+y = n(@R)
K[ar=dr " = 9rar X 9avs ' K = |rsdr X dove /[ arsdr "

K = [wmsar 1" X dJave? K = mol*™ L"* x sec”
1) Y e o [x+y =0, n=o0] Ko = mol*® L x sec™ ; Ko=mol L sec?
2) W Pife Ao : [x+y =1, n=1] Ko = mol*™* L' x sec™ ; Ko= sect
3) fegda +ife aifdo : [x+y =0, n=0] Ko = mol™? " x sec™ ; Ko=mol™ L sec
4) g dife Ao [x+y =%,n=%] k, = mol™” " x sec™ i ky=mol* L sec?
% 3Nfdhd ued —
1. = afwfgamn o sife sma &1 |
(@) T =K[AP?[B]* ; n = %*E = 2 (Rd B sifafan)
(@) &M =KAP?[B" ;n=2-2 =2 or 0.5 (6 @i sfifem)

2 uwa#r%aﬁroav‘rK1=605ec'1%ﬁmmwﬁimﬁmﬁﬁﬁwwaﬁw

T Bife 310 P FHIBIoId aT FHBIT H Ky = 2o |ogyy —— - x) Ki=60Sec” a-x ==
Ky = @Iogmﬁ ; t= %Ioglo ;0 t= % : t= 0.0385sec or 3.8x107 sec
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3. Ud yoH dife Ao 10 e # 20 gferera qof 81 Sl & ar 75 uferd qui g # fha=r Gw/a o |
HWW@O?WWWK1=¥I%@:)
Afdar & 10 e | 20 ufderd qof 819 R o997 FRadis —
AT 6 RS A=l = a
t=10 ﬁﬂ‘c’q'\fwm—x):%

-2 5 -080a
100

2.303 a

2.303 2.303
K = Tlog osoa '’ K = Tloglo 1.25 ; K= TXO'0969

Ird: IfAfear & 75 wforerd 9ol 89 § o T 99 —

a 75 _ 25a

;K = 0.0223 min*

Ifd t+99g IR AT=d (a—x) = - - — = 0.25a
1 100 100
t=22810g2 .= 238 1004 . t= 06021X103.2 ; t= 62.18 min
K 0.25a 0.0223

4. g o & yem @ife Affear & 99.9 ufderd gl 8 # oWl 93 3reIfy(t,,) &7 10 T[OT BIeT 2 |
99.9 UfTerd Ul 89 W [R] = [Rlo— 0.999[R],
o Pife N0 & AATBTORT 7T FHHRI A K = == log

2.303 [R]0 ) 2.303 1
; K===log—— ; K=

¢ 08 [R]0 - 0.999[R]0 0.001
t= o e (i) ; YA PIC M0 BT 3Rty =

6.909 K
— X
k 0.693

[R]O

R

2.303x3

2.303
K = f IO

K = g 10 [logl0 =1]

TeAITAR FHI0 (i) / (i) BT W t/ty, =

= 10 hence proved

5. ®la—14 ASAYfdCT &F BT Y 5730 99 & A1 SHBT & ReR(D ST BNl |

f¥aefiea e v gom wife s & o g iy by = S
_0.693 | _@ ) _ 4 1

Ki = w0 M T v K; = 1.209 x 10" year

ST NN U=

e Ky =5x10" Sec” B T AT ty, SN BN |

100 VDS WY arell yeH Hife AMfGAT & 1 FHadie o T =T |

Teh UM pife W0 2 TuC H 90 Ufcrerd goi 8 el € o 97 fadics a 1y i & |

30 fie 3ty arell Yo dife 3o & foy k, @ 75 wfcera qof 89 # & 999 91d & |
IS ABHRBT BT YRS AT 0.4M TAT I I 2.5 x 10° mol Lrsec™ BT AT TG AT BRI |

RN NEN

. d-sife d@ (A0 ¢rgl) [ d-block /transition elements]

= UIHU AT BT GF : GEBIT M u=/nn+2) n=noofunpairede’ unit = BM (@R FACH)
= TF YT S0 FT gEarg el 1.73 IR AEH B 2 |

ions SC+3,Ti4+, Zn2+ Ti3+, V4+ Ti2+, V3+,Ni2+ Cr3+,Mn2+,C02+ Cr2+, Mn3+,Fe2+ Mn2+,Fe3+
No of unpaired e 0 1 2 3 4 5
u=.nn+2) Vo=0 V3=173BM | V8 =2.84BM | V15=3.87BM | V24=4.90BM | V35 =5.92BM
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